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Blish L2 A2 ... U3 plays the D3
Bl The colour of most T1s B2 Can be created by X1s
C1 C2
Where you might find U1 water X2 are never these
D1 D2 D3 i ;
Beats a Y1 in most games Pertaining to alternate slices of F2! CompL{ters use twice 01; humans
use twice R2
E1 E2 One side of a Z2 has this (The Y1's,
A-Z can be heard here before 1953)
F1 . F2 .
Often A1 if undercooked What you might do at the C1
Gl ... N2, a greeting G2 AQl
H1 . . . H2 H3 . ,
S1in this D3 is 100 Some cars have R2 of these Stuff stuffed for resting one’s E2
11 12
Opposite of B1 Seventh N2
1 J2
Costs a P1, for example Q2 U2 W1, for example
K1  Too much A-Z may make you this K2  Unlike some similar creatures, has
(sans D1) no B2
L1 ! L2
I%I starts to mean there's no J2 to A primary M1
M1 L2, N1, A1, R1, or Y2, for example m2 I’'m half of F1! m3 Not G1
N1 Opponent of L2 N2 Unit D2 time
o1 Value associated with D1 02 P2, for example
P1 P2
R2 Z2s 11 at Christmas time is trendy again!
1 2
Q L2P2, for example Q For a K2, you would use F1
R1 R2
Forsake on a C1 How many of V2 per Z2 make 01
S1 S2 .
Half V2 less 01 A fraction of a W2 Your W2 has R2 of these
T1 ‘Sl'gese are not J1 —11 ones even less T2 What A-Z do
u1 Preserves F1 vz gglsr:g up and missing E2 in both U3 This food can be 11, B1, N1, or L2
Vi V2
L2E2s, for example H1 Q1s surpass this many legs
wi Can be used to lay B2s w2 Rogghly Z1 minus V2
Z2-imetres
X1 N X2  H1 of these are made of much of A-
For trimming S3 7
Y1 Y2
Wins many a J2 Deep L2
Z1 22
Ten R2s Sounds like told to E2!
You can be R1ed here. It's 01 D2 R2 such places - this one's always 11
M2'llbeP2(......... N2)
E2ed by one loosely meaning G1 (Known for "12 Y2 12", amongst others)
CH1x(H1+0O1)HV2-HINR2-010S
Had a D3 in G2 (V1 likenesses are around Z1 times smaller)
°
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